

3018 1000x1:1000/m 0121,447,017 26.3.x <14,000-1204 190,000 oungous रिवस्द्री आंफिस गोपालगेल SUPPLEMENT AGREEMT9,3/2004

> Estimate Sanctioned by Chief Engineer-3. R.W.D. Bihar Patna. As on 19.03.2025 and Revised BOQ Approved By SE RWD Works Circle Siwan vide letter no. 241, dt. 25.03.2025

This Supplement Agreement is the part of Main Agreement 05 MBD/2020-21 Increment of Amount because of Revision of Estimate will be chargable under MR 3054.

PAN-Reg. GST No-

On 0.05% below

- Agreement No.-.........05MBD/3054/2020-21Suppl./M.B.D/2024-25
- Estimated Cost Rs. 3084496.00 (Thirty lac eighty four thousand four hundred ninty six only.)
- Agreement value:- 3082954.00 (Thirty lac eighty two thousand nine hundred fifty four only)
- Performance security Rs. 1.55 Lac PSD in shape of FDR
- Date of commencement of wat: 15.04.2025
- Date of completion of work: 14.06.2025

This agreement, made the.. " day of 2025 Between Executive Engineer, R.W.D. Works Division. Gopalganj-2. of the one part, and Raj Tanay Rai Construction Pvt. Ltd. At- Rai Bhawan, near Registry Office, Gopalganj. Where as the Employer is desirous that Contractor execute Maintenance of Road from Devapur to Devapur High School Under- MR 3054 NMP (Length-1.87 km.) and the employer has accepted the bid by the contractor for the execution and completion of such works and the remedying of any defects there in at total cost of Rupees.

Road	Length (In K.M)	Construction Cost.	Maintenance Cost.	Total Cost.	
Devapur to Devapur High School	1.87	3252760.00	169806.00	3082954.00	
Total	1.87	3252760.00	-169806.00	3082954.00	

Raj Tapay Rai Construction Pvt. Ltd.

Executive Engineer RWD (W) Division

NOW THIS AGREMENT WITNESSETH AS FOLLOWS

- 1. In this Agreement, words and expression shall have the same meanings as are respectively as are respectively assigned to then in the condition of contract here in after referred to, and they shall be deemed to from and be read and construed as part of this Agreement.
- 2. In consideration of the payments to be made by the employer to the contractor as here in after mentioned, the contractor the works and remedy any defects there in conformity in all aspects with the provision of the contract.
- 3. The Employer here by covenants to pay contractor in consideration of the execution of the execution and completion of the works and the remedying the defects where in the contract price of such other sum as may become payable under the provisions the contract.
- 4. The following documents shall be deemed to from and be read and construct as part of this Agreement, Viz:-
- I. Letter of Acceptance
- II. Notice to proceed with the works
- III. Contractor's Bid
- IV. Contract Data
- V. Special conditions of contract and general conditions of contract
- VI. Specifications
- VII. Drawings
- VIII. Any other document listed in the contract date as forming part of the contract.

In witness where of the parties there to have caused this Agreement to be executed the day and year first before written.

The common seal of.....

In the presence of:-

Executive Engineer Binding signature of employer...... RWD (W) Division Gopalganj-2

Binding signature of contractor

Raj Tanay Rai Construction Pvt. Ltd

Kerised At. 128. 108.91 lacy Revised TSR8 100.19 la

onder li	nviting Authority: Engg-in Chief RWD Patr	18				
State Services	Work: *		lmate F	or Devapur T	o Devapur High School	Note and the contract of the c
ame O	Blook w	Baraull	a service de la constantina de la cons	A ACT A CASA NACADA ACT AS ASSAULT AS	Charles Complete and the Complete State of the Complete C	Charles and a process of the charles and the charles and the charles and the charles are consistent and the charles are charles are charles and the charles are charles ar
ontrect	No: Civil Works/			de para falla quale de las especies de las interiores despensas	na navytná sie prominova v podranovaní se do aktivi navytná se prominovaní navytná sie podranovaní se navytná s	A HELD STATE AND ADDRESS OF THE STATE OF THE
ne diam'ny sort desiran					photogram is a priving instance expendence representation or an administration of	en productivity and the second
ldder lame:				Excess (+		%
	The same of the same	SCHEDI	ILE OF	WORKS		The same of the sa
il. to.	Description of work	No. or	Unit		Estimated Rate	AMOUNT Rs. P
160		aty.		Figure	Words	-
1.00	Clearing and Grubbing Road Land (By manual means) including uprooting wild vegetation, grass, bushes, shrubs, seplings and trees of girth upto 300mm, removals of stumps of such trees out earlier & disposal of unserviceable materials & stacking of serviceable materials to be used or auctioned upto a lead of 1000 m including removal and disposal of top organic soil not exeeding 150mm in thickness as per technical specification-clause 201.1 and direction of E/I	Ò.19	На	51133.76	Rupees Fifty One Thousand One Hundred Thirty Three And Paise Seventy Six Only	
2,00	Construction of subgrade and earthen shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required slope and compacted to meet requirement of Table 300.2 with lead upto 1000 m & 100 m as per Technical Specification Clause 303.1. (Including	1233.00	Cum	176.58	Rupees One Hundred Seventy Six And Paise Fift Eight Only	217723.14
3.00	Construction of granular sub-base by providing Well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with vibratory roller achieve the desired density, complete as per Technical specification clause 401.	252.59	Cum.	2247.82	Rupees Two Thousand Tw Hundred Forty Seven And Palse Eighty Two Only	
4.00	Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 2 as per Technical Specification Clause 405.		Cum	4124.67	Rupees Four Thousand One Hundred Twenty For And Paise Sixty Seven On	ar l
5.00	Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate wetering and compacting to the required density Grading 3 as per Technical Specification Clause 405.	Raj Tanay	Gum Rai Co	nstruction Pv	Rupees Three Thousan Seven Hundred Eighty S And Palse Seventy Six Or	ix

	Description of work	No. or Oty.	Unit		Estimated Rate	AMOUNT Rs. P
	Providing and applying primer coat with bitumen emulsion (SS-1) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.70-1.0 kg/sqm using mechanical means as per Technical	1606.63	sqm	Figure 44.71	Words Rupess Forty Four And Palse Seventy One Only	71832.43
.00	Specification Clause 502 Providing , laying and rolling of Close graded premix carpet of 20 mm thickness composed of 13.2 mm to 5.6 mm agreegates either using ponetration grade bitumin or emulsion to required line grade , and level to serve as wearing course on a previously prepared base , including	1606.63	egm	222.47	Rupees Two Hundred Twenty Two And Paise Forty Seven Only	357436 36
3.00	Providing and applying tack coat with Bitumen emulsion (RS-1) using emulsion distributor at the rate of 0.25 to 0.3 kg per sqm on the prepared bituminous surface cleaned with Hydraulic broom as per Technical Specification Clause 503.	6369.13	sqm	15.20	Rupees Fifteen And Paise Twenty Only	96810.78
9,00	Providing and laying semi dense bituminous concrete with 100-120 TPH batch type HMP producing an average cutput of 75 tonnes per hour using crushed aggregates of specified grading, pramixed with bituminous binder @ 4.5 to 5 per cent of mix and filler, transporting the hot	119.07	Cum	11431.18	Rupees Eleven Thousand Four Hundred Thirty One And Palse Eighteen Only	1361110.60
0.00		f	Cum	6874.25	Rupees Six Thousand Eight Hundred Seventy Four And Palse Twenty Five Only	
11.0	approved, curing of concrete stabs for 1 days, using curing compound '(where specified) and water finishing to lines an grade as per drawing and Technical	d e 3.00	nos	2517.3	Rupees Two Thousand Fi Hundred Seventeen An Paise Thirty Five Only	
12.	The second secon	ai Constru	ction Pvf.	Ltd. 651,8	Rupess Six Hundred Fit One And Palse Fifty Fo	Brile D.

	escription of work		Unit	Estimated Rata		AMOUNT Rs. P
, ,		Gty.	potanicistas esem	Flgure	Words	
it. C	Retro-reflectorised Traffic SigneProviding and erecting direction and place dentification retro-treflectorised sign as per IRC:67 made of encepsulated lens type reflective sheeting vide Clause (701.2.3, fixed over aluminium sheeting, 2 mm thick with area exceeding 0.9 agm supported on mild steel angle iron posts 75 mm x 75 mm x 6 mm, 2 Nos. firmly fixed to the ground by means of properly designed foundation with M-15 grade cement concrete 450 mm x 450 mm x 600 mm, 600 mm below ground tevel as per approved drawing and Technical Specification Clause 1701.	1.92	sqm	12860.37	Rupees Twelve Thousand Eight Hundred Sixty And Palse Thirty Seven Only	24691.91
14.00	Providing and applying 2 coats of water based cement paint to unplastered concrete surface after cleaning the surface of dirt, dust, oil, grease, efflorescence and applying paint @ of 1 litre for 2 sqm.	126.72	sqm	97.96	Rupees Ninety Seven And Paise Ninety Six Only	12413.49
15.00	Providing and fixing of Retro reflective cautionary, mandatory and informatory sign board as per IRC:67 made of 1.5 mm thick MS steel duly stove white colour in front and gray colour on back with red reflective border of 65 mm width and required letters and figures with reflective tape engineering grade as per clause 1701.3.9 of MORD for rural road of required shade and colour supported and welded on 47mmx47mmx12swg sheet tube firmly fixed to the ground by mean of properly designed foundation with M15 grade cement concrete 450x450x600 mm, 600mm below ground level as per	12.00	nos	3557.72	Rupees Three Thousand Five Hundred Fifty Seven And Paise Seventy Two Only	42692.64
16.00	600 mm circular	12.00	nos	4871.75	Rupees Four Thousand Eight Hundred Seventy Ond And Paise Seventy Five	
17.00	£00 mm x450 mm rectangular	9.00	nos	4163,05	Rupees Four Thousand One Hundred Sixty Three And Palse Five Only	
18.00	Reinforced cement concrete M15 grade noundary pillars/local stone of standard design as per IRC:25, fixed in position including finishing and lettering but excluding painting as per drawing and Technical Specification Clause 1704	72.00	each	524.96	Rupees Five Hundled Twenty Four And Palse Ninety Six Only	37797.12
19.00	Printing new letter and figures of any shade with synthetic enamel paint black or any other approved colour to give an even shade as per rirawings and Technical Specification Clause 1701	1684.00	perch	0.52	Rupees And Palse Fifty Two Only	823.6
20.00	Planting of trees by the road side (Avenue trees) in 0.60 m dia holes, 1 m deep dug in the ground, mixing the soil with decayed farm yard/sludge manure, planting the saplings, backfilling the trench, watering, fixing the tree guard and maintaining the plants for analytical construction.		each	819.92	Nineteen And Palse Nine Two Only	

	Description of work	No. or	Unit	and the second s	Estimated Rate	AMOUNT Rs. P
0.		Qty.	*****	ent and organized to make an extra spillers and	T Words	
21,00	Providing and taying of hot applied thermoplastic compound 2.5 mm thick including reflectorising gless beads @ 250 gms per sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35. The finished surface to be level, uniform and free from streaks and holes.	388.00	sqm	742.79	Rupees Seven Hundred Forty Two And Paise Seventy Nine Only	288202.52
22.00	Providing and fixing of typical MMGSY informatory sign board with Logo as per MORD specifications and drawing. Three MS Plates of 1.6 mm thick, top and middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate tube. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc. will be painted with ready mixed synthetic enamel paint of superior quality in required shade and colour. All sections of framed posts and steel tube will be painted with primer and two coats of epoxy paint as per drawing Clause 1701 and Annaxure 1700.1	3.00	each	11535,60	Rupess Eleven Thousand Five Hundred Thirty Five And Paise Sixty Only	34606.80
23.00	Brick masonry work in cement morter 1:3 in parapet excluding pointing and plastering as per drawing and technical specifications Clauses 600, 900 and 1208.4	5.76	Cum	6070.48	Rupees Six Thousand Seventy And Paise Forty Eight Only	34985.98
24.00	Plastering with cement niortar (1:4) on brick work in sub-structure as per Technical Specifications	40.32	sqm	178,97	Rupees One Hundred Seventy Eight And Palse Ninety-Seven Only	7216.07
26.00	Painting two coats including primet coat after filling the surface with synthetin enamel paint in all shade on new plastared /concrete surfacen as per Technical Specifications	117.12	sqm	108.98	Rupees One Hundred Eight And Paise Ninety Eight Only	12763.74
26.00	Earth work in excevation for foundation of structures upto 3.0 m depth as per- drawing and technical specification clause 1104	15,82	Gum	294.73	Rupees Two Hundred Ninety Four And Paise Seventy Three Only	4662.63
27.00	Sand Filling in Foundation Trenches as per drawing and technical specification Clause 1108 - rate as per Item No. 11.2 (I) of Chapter 11	1.39	Gum	425,48	Rupees Four Hundred Twenty Five And Paise Forty Eight Only	591.42
28.00	Providing PCC M 15 concrete for plain concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 203	0.90	Cum	6160.34	Rupees Six Thousand One Hundred Sixty And Peise Thirty Four Only	5544.31
29,00	Plain cement concrete RCC M-25 concrete ga toxas Rai Construction Rvi: I drawing and technics pecifically secured to the concrete RCC M-25 concrete gas and technics pecifically secured to the concrete RCC M-25 concrete gas and technics pecifically secured to the concrete RCC M-25 concrete gas and technics pecifically secured to the concrete RCC M-25 concrete gas and the concrete RCC M-25 concrete gas and the concrete RCC M-25 concrete gas and the	14.64 td.	Qum	7835.51	Rupees Seven Thousand Eight Hundred Thirty Five And Palse Fifty One Onlexe	cutive Engineer D (W) Division

	Description of work	No. or	Unn		Estimated Rate	AMOUNT Rs. P
MD		City.	-	Figure	Words	
50.00	Packfilling behind abutment, wing wall and return well complete as per drawings & technical specification Clause 1204.3.8 (With Sandy Meterials.)	7.20	Cum	2970.13	Rupees Two Thousand Nine Hundred Seventy And Palse Thirteen Only	21384.94
31.00	Providing Weapholes in brick mesonary , Plain / Reinforced concrete abutement , wing wall , return wall with 100 mm die AC pipe extending through the full width of the structure with slope of 1V: 20H towards drawing	10.00	nos	90.94	Rupees Ninety And Palse Ninety Four Only	909,40
32.00	Supplying, fitting and placing HYSD bar reinforcement (Fe 415) in substructrus complete as per drawings and technical specification Clauses 1002, 1005, 1010 & 1202	1.08	mi	50387.26	Rupees Fifty Thousand Three Hundred Eighty Seven And Paise Twenty Six Only	54413.24
33.00	Dismantling of existing structures, like culverts, bridge, retaining wall and other structures comprising of brick mesonary including unserviceable material and stacking the serviceable material with all lift and lead of 1000m as per technical specification clause 202,	0.81	Gum	474.16	Rupees Four Hundred Seventy Four And Paíse Sixteen Only	384,07
4,00	Dismantling of existing structures, like culverts, bridge, retaining wall and other structures comprising of brick masonary including unserviceable material and stacking the serviceable material with all lift and lead of 1000m as per technical specification clause 202.	30.69	Cum	339.50	Rupees Three Hundred Thirty Nine And Paíse Fifty Only	10419.26
5,00	Removing all types of Hume pipes and stacking within a lead of 1000 m including Earthwork and Dismantling of Masonry Works as per Technical Specification Clause 202. Above 900 mm dia Hume pipe	-5.00	RM	236,34	Rupees Two Hundred Thirty Slx And Paise Thirty Four Only	1181.70
6.00	Maintainance for 1st year	1.00	Year	133643.00	Rupees One Lakh(s) Thirty Three Thousand Six Hundred Forty Three Only	133643.00
7.00	Maintainance for 2nd year	1.00	Year	185423.00	Rupees One Lakh(s) Eighty Five Thousand Four Hundred Twenty Three Only	185423.00
8.00	Maintainance for 3rd year	1.00	Year	485521.00	Rupees Four Lakh(s) Eighty Five Thousand Five Hundred Twenty One Only	485621.0
CO.8	Maintainance for 4th year	1.00	Year	228945.00	Rupees Two Lakh(s) Twenty Eight Thousand Nine Hundred Forty Five Only	228945.0
00.0	Maintainance for 5th year	1.00	Year	513322.00	Rupses Five Lakh(s) Thirteen Thousand Three Hundred Twenty Two Only	513322.0
	Total Estimated Cost in Figures			Taring a strict of the		88,65,992.5
	1% Labour					88,659.93
	12% GST	Rake				10,63,919.11
	In the Oduoted Amount	h = 0 0 l	2 mar	Y	1,00,18,571.62	1,00,18,572.00
130	12% GST full Daubled Amount By Contract or As Raj Ta	nay Rai Co	s One	Crore Elgi	Two Only	ndred Selection